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i A FI054-03 H07 H HEIDTA ov g 79 v (BiiA)
fh 4 JE Hh & Wae | %K F e T fE g2y ]
H X £ IH 15. 00| FA % 592 8, 880 1,512 1, 287 1, 145
X H D e E 12. 00 | #H%f 142 1, 704 975 777 675
E O NAK w5 4. 00 | FHxf 25 100 1,782
H % o 3. 00| FHxf 234 702 1,188 925 605
i A ] 1L 1. 00| FHxf 285 285 648 515 432
ENIE s.00| faxt| 27| 135 2,700 2,400| 1,620
AN ™5 2. 00| FHxf 99 198 972 805 540
EEL w5 4. 00 | FH%f 169 676| 1,404 1,175 972
[ I\ w5 5. 00| FH%f 710 3,550 2,160 1,746 1,296
~7 b~ | = 3. 00 [ FH %} 80 240 1,944| 1,878 1,404
R Fosk L 2. 00| FA%S 4 8 4, 104
H i (i 5. 00| FHxf 12 60| 1,728| 1,539| 1,188
T e S 10. 00| AHxf 520 5,200 2,268 1,930 1,080
B ¥ = 10. 00 | #H % 140 1,400| 2,484 2,071 1, 620
S5 - AbiEiE 20. 00 | AHx} 50 1, 000 2, 106
(= | 10,00 Mxr| 227 2,270| 2,484 1,915 1,296
L& 2 e E 10. 00 | #H%f 995 9,950 3,024 2,202 1, 296
P=—LF R 5 [ 4. 00| FBF 582 2,328| 1,836 1,227 756
Turyal— w5 6. 00 | #H %} 397 2,382 2,700 2,223| 1,620
ENIE 6.00| fxr| 1 o] 6o | 0,592
AMEE (i 0. 10| #Hxf | 3,050 305 162 136 65
ZDEH £ ¥ 0. 20 [ #Hx} 1, 050 210 80 51 35
LU E % 0. 20 | FHx} 300 60 86 70 59
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P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz A F1054£03 H 07 H eI Dt e/ 36 kv (BiiA)
fh 4 JE Hh = Wae | %K F i fiE T fE g2y ]

38 Fosk L 10. 00 | #H%F 517 5,170| 4,860 3,927 2,534
VA 1 Ak L 10. 00 | ¥H % 200 2,000 2,268| 2,214| 2,160
% 42 | 1000\ FERF|  s73| 5,730| 1,836| 1,740

5 U H & 10. 00 | #H%f 661 6,610 3,780 2,859 1,620
Yata— a4 10. 00 | #H%f 168 1,680 4,320 3,722] 2,700
Avava 7 4 U E | 13.00| HH%F 9 117| 3,024 2,928 2,808
T AH I — = B 0. 25| FH%f 216 54 400 346 248
bEEBI [ 0. 27 | ¥Hx} 1,775 479 616 547 324
S E & 0. 25| FHx} 6,975 1,749 540 435 270
BHD Y 5 0. 25| FHxf 2,313 580 410 360 248




